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BODMASBODMASBODMASBODMAS
B  

Brackets

O  
Order

D M 
Division and Multiplication

A S 
Addition and Subtractions

1) (12 + 8) ÷ 4 = 2) (52 + 10) ÷ 5 = 3) (8 + 9) + 62 =

4) 4 × 6 – 14 = 5) 18 ÷ (4 + 5) = 6) (21 – 9) × 2 =

7) 8 × 3 + 6 = 8) 3 × (15 – 9) = 9) 6³ – (35 + 12) =

10) (14 + 21) ÷ 5 = 11) (8 + 13) ÷ 7 = 12) 25 – 11 × 2 = 

13) (72 + 11) ÷ 5 = 14) 9 ÷ (10 – 7) = 15) 26 – 3 × 7 = 

16) 4 ×        – 25 = 23 17) (26 – 10) ÷        = 4 18) 60 = 5 × (3 +       )

19) (5 + 9) ÷        = 2 20) 9 × (12 –       ) = 63 21) 45 = (5 +       ) × 5

22)        ÷ (7 – 2) = 3 23) 82 + (66 –       ) = 86 24) 6 =        ÷ (11 – 4)

Calculate:

Complete these calculations by filling in the missing number.
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BODMAS Answers
1) 7 × 5 = 35 2) 7 + 18 = 25 3) 10 ÷ 2 = 5

4) 12 – 3 = 4 5) (8 + 9) + 62 = 53 6) 21 ÷ 7 = 3

7) 10 – 3 = 7 8) 7 + 24 = 31 9) 32 ÷ 4 = 8

10) 7 × 5 = 35 11) 9 × 6 = 54 12) 23 – (3 + 1) = 4

13) 15 ÷ 5 = 3 14) 12 ÷ 3 = 4 15) 8 × 7 = 56

16) (12 – 7) × 8 = 40 9 + 2 × 7 = 23 18 ÷ (8 – 2) = 3

1) (12 + 8) ÷ 4 = 5 2) (52 + 10) ÷ 5 = 7 3) (8 + 9) + 62 = 53

4) 4 × 6 – 14 = 10 5) 18 ÷ (4 + 5) = 2 6) (21 – 9) × 2 = 24

7) 8 × 3 + 6 = 30 8) 3 × (15 – 9) = 18 9) 6³ – (35 + 12) = 169

10) (14 + 21) ÷ 5 = 7 11) (8 + 13) ÷ 7 = 3 12) 25 – 11 × 2 = 3

13) (72 + 11) ÷ 5 = 12 14) 9 ÷ (10 – 7) = 3 15) 26 – 3 × 7 = 5

16) 4 × 12 – 25 = 23 17) (26 – 10) ÷ 4 = 4 18) 60 = 5 × (3 + 9)

19) (5 + 9) ÷ 7 = 2 20) 9 × (12 – 5) = 63 21) 45 = (5 + 4) × 5

22) 15 ÷ (7 – 2) = 3 23) 82 + (66 – 44) = 86 24) 6 = 42 ÷ (11 – 4)

1) (3 + 6) × (8 – 5) = 27 2) 7 + 8 × 9 – 4 = 75 3) 8 × (6 + 3) + 5 = 77

4) (19 – 7) + 82 + 9 = 85 5) 9 × (5 + 6) + 4 = 103 6) 8 ÷ (7 – 5) × 6 = 24

7) 9 × 3 + 18 ÷ 9 = 29 8) (124 ÷ 2) × 22 = 248 9) 23 – 3 × (5+8) = -16

10) 8 + 7 × (12 – 5) = 57 11) no brackets needed 12) 8 × (9 – 5) – 6 = 26

13) (24 – 17) × 8 – 16 = 40 14) no brackets needed 15) 9 × (7 – 6) × 3 = 27

16) 8 × (7 – 4) ÷ 6 = 4 17) no brackets needed 18) (5 + 11) ÷ (7 – 3) = 4

19) 7 + 6 × (12 – 7) = 37 20) (15 + 9) ÷ 6 – 4 = 0

21) 6 + 4 + 3 – 12 = 1 12 ÷ 6 × (4 – 3) = 2 12 ÷ 6 + 4 – 3 = 3

6 × 4 ÷ 12 + 3 = 5 12 – 3 × 4 + 6 = 6 (4 × 3) – (12 ÷ 6) = 10

(12 × 3) – (6 × 4) = 12 (4 + 6) × 3 – 12 = 18 (4 + 6) × 12 ÷ 3 = 40


